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1. Which of the following texts was compiled 1. Fr=ifoRad # & &9 @1 71 T@ oTet 3

during Gupta Period? TT?

(1) Brihatkatha - (2) Kavya Mimansa (1) geaq@n 12) mmm e

T L o PR RS BT ST 11 e
(3) Amarkosh  ~ * (4)- Swapnavasavaduffa <* .*‘?3) it *M

2. The period of Ancient India, in whith the first "2 U HRA, BT Pl gs, forad ded Ul
reference of ring wells is found- G e 'x*’ AN ﬂ??ﬂ EEB#) ?h‘i TN Ul Joord fAedr 8-
(1) Mauryan Period  (2) M_a.ha;apapada (1) 91 Prer (2) HETGHUE Bl

Period

. . (3) T« el (4) T Bret
(3) Gupta Period (4) Vardhana Period

3. Consider the following statements about 3. FTerv<l WEIIER @ W= & aifeRad o

Nalanda Mahavihara: '_ _ R faER HRg-

(a) According to Hiuen-Tsang, the (a) g9 9T & AR, FAR Td TH
Mahavihara was founded by ERT FRIfdeR &) WU & T3 ot |
Kumar Gupta-l - (b) T8 9E W R 6 wefdER aRaar

(b) It is believed that the Mahavihara Rereht @ ERT T B] a7 T |
was destroyed by Bakhtiyar Khalji. ' R o @t ¥ W W S T

Choose the correct answer from the given
- (1) B9 (2) GG &1 (2) It (b) 9 2 |

codes-

(1) Only (a) s true. (2) Only (b) is true. @) i @) T & (b) @) @ IR ©) T
(3) Neither (a) nor (b) (4) Both (a) and (b) B el E |
is true. are true.

4. Name the king of Shailendra dynasty who is 4. o 9 B 54 ST BT H4T WK © 5 I

credited to have built the Kalasan "['e‘m]:ﬂe:~ HTAET \fex’ &1 AEfor s
(1) Chulamani (2) Balaputradewa (1) et a9 (2) STegFed
Varman :
(3) e (4) THTBRIT

(3) Dharmavansha (4) Panangkaran
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5. Arrange the following places of Revoltof 1857 5. 1857 & Rwid & <R™ i Rgle—ref &
in Chronological order according to timing of fage %o @ 3R Wﬁ—cﬁ w9 9

outbreak of the revolt: Zaferd HfoTg—
(Aj Meerut (B) Bareilly ' (A) W (B) aeft
(C) Jhansi (D) Kota ©) =i (D) @
Choose the answer from codes given below- e I g‘r‘{'—
(1) ABCD 2)BDAC

(1) ABCD 2 BDAC
3)CBAD 4 DBCA

3)CBAD 4 DBCA

6. When the Technical College in Roorkee was 6. fafesr o+ @ SR v § aoia

established during the British rule? AT &) R4 &9 Eg‘?
(1) 1846 AD (2) 1847 AD (1) 1846 . (2) 1847 &.
(3) 1856 AD (4) 1857 AD s Fomer

7. Who were the founder members of Hindustan 7. ‘Rgwm Rufiaed waifiges’ & wwimue

Republican Association? S I A?

(A) Chandra Shekhar Azad (A) T% IER IATNE
(B) Sachindra Nath Sanyal (B) Wfrs=mer |m=ITal
(C) Aurobindo Ghosh (©) aRfI=T By

(D) Ram Prasad Bismil D) aR

AT IR 1 FHet B TR | Q-

Select the answer from codes given below-

(1) A,B,C&D (2 A&C (1) A,B,C3RD (2 A3RC

(3)A&D (4) A,B&D 3) AR D 4) A,B3R D
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8. Which of the following statements about 8.

Rajaram Mohan Roy is incorrect?

(1) He published a (2) He founded
book entitled ‘“The ‘Indian Reform
Precepts of Jesus, Association’.

the Guide to Peace

and Happiness’.
(3) He founded (4) He published a
‘Aatmiya Sabha’. Persian Treatise
called Tuhfat-ul-
Muwahhidin’.

9. Which of the following recommended the . 9.
establishment of Teachers’ Training Institution
on the lines of English model in India-
(1) Hunter (2) Sadler
Commission Commission
(3) Wood’s Despatch  (4) Raleigh

Commission

GET IT ON
Google Play

for # 9 B 91 BYH o X Jed B
vy # ¥ =8 87
(1) S8 ‘T Wed  (2) S8 gfeud

3T o9, § Reprd TEIRET
TES T UIE Us

Suivrer S BT TIGAT B |
U JRID DI
@ |
(3) IR AT T (4) Bl BRE H
"B T B | bkl
T AH A US
T&ID TPIR Bl |

fr=feRead # 9 fP9d gRT 9Ra H g0is @

gafed T WX SRAUd  URE wwRfmE
(Teachers’ Training Institutions) @ YRITYT I
fRmrRer @ 78 -

(1) BUEX IR (2) ¥SeR 3T

(B)Q@'aﬂf%@j (4) N1 RN
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GET IT ON
Google Play

10. 99 <1 T Ry 1w & e sfieum (A)

10. Given below are two statements. One is

Assertion (A) and the other is Reason (R).

Assertion(A):The Bhakti Saints mainly used
the regional languages for

spreading their teaching among

the masses.

AT GERT R (R) B |

AMH (A): Hfaa—a=il 7 319 Si=ar & Hey
I Rl B TER B B
forr wiEm: &g Wi @

TN e |
Reason (R): The Delhi Sultans as well as th Ry \ :
eason (R) elle ultans as well as the R): = \
Mughals made Persian their
I BRA BN AT BrEtadE
official language.
HIYT g-714T |
Read the above statements and select the it :
correct answer from the codes given below- i i R s e
R ¥ W8l SR G-
(1) Both ‘A’ & ‘R’ are (2) Both ‘A’ & ‘R are
correct and R is the  correct, but ‘R’ is (_1) AT CREH (@) A W R <
correct explanation  not the correct WEl § TACRCA W 8, WY R
. for ‘A’ explanation for ‘A’ @1 el A | "A’ P e AR
el B

(3) “A’ is correct but  (4) “A’ is wrong but

‘R’ is wrong ‘R’ is correct 3) AW E g (@) ‘AT § Ty
‘R 7Terd 2 | R W R :
11. Who was the British Resident (Agent) in 11 1857 & figie @ gwend & W7 SSIR A

Udaipur at the outbreak of Revolt of 18577
(1) Captain William
Eden

(2) Sir John Lawrence

(3) Captain Showers (4) Major Burton

12. With which of following Newspapers Vijay
Singh Pathik’s name is associated?
(1) Rajasthan Kesari  (2) Rajputana Gazette
(3) Rajasthan (4) Mewar Samachar

Samachar

12.

fafeer YRS (o) e a1?
(1) D faferad 87 (2) W W[ dk=
(3) deq viad (4) AR 94

= 4 9 g waaR 99 @ 9 oy R
Ui BT A ST T &7

(1) ISTRAE S (2) TG T9e

I(3) RO FHER (4) HaTS THMER
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13. Among the authors and their writings during  13. 3IRFT9E & B & AGD| TAT Sb! LERIH

Aurangzeb’s reign, which one is not rightly P AT 'ﬂﬁlﬁ!ﬁ T 2
matched? - 1) it e e
(1) Mirza Muhammad (2) Muhammad Saqi — TR — ST
Kazim — Khulasa-ut- D
‘Alamgirnama Tawarikh
i Bheis v oKl hatias Mg — S0 PN (4) $aRaTE AR —
Nuskha-i- - Fatuhat-i-Alamgiri Frar-g—fee PHIRTI—T—
. Dilkusha - ' CIKLRIN

14. Pandit Rao in Shivaji’s administration used to  14. Rrareil & ygma # fed ¥d' gwI GEIRACIE

deal with the matters related to- qrel "l o—

(1) Miiitary Affairs (2) Charity and 1) '\ﬁT{[ FITFI?f (2) S e
Religious affairs R

(3) Justice (4) Correspondence (3) =T T A (4) TATER ey

HTHel

15. List I denotes the Mughal Gardens and List II 15, @i-1 g7Te1 UMl B Wgfad ded § SR
denotes the rulers under whose reign the - I P I AGR[ B g e

Gardens were built. Which of the following is T § Serd a9 v o | A=faRad § @
not correctly matched- P G gAfera e B
ListI List I1
=l == s | A 11
(1) Aaram Bagh - Babur -l
(Agra) (1) JRM 97 ((FR)) - 9%
(2) Nishat bagh - Akbar ;
(Srinagar) (2) femg e ((FTR) - SdeR
(3) Shalimar garden— Shah Jahan _ s
(Lahore) (3) IR 917 (AER) — WESEl
(4) Pinjore Garden — Aurangzeb _ ‘ X
(Panchkula) @ fieR amr (Fogen) - TR
1 1 2) 2 i1 2) 2

@2 @4 3) 3 @) 4
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16. In the following sequence a wrong number is 16, =1 3ehA ¥ U TTora wwm < 741 & | Taia

given. Find this wrong number. &7 geed—

2ol s 808, 240, 108 1205 1,2,4,7,28,140,198, 205
x7 (2) 28 a7 ‘ (2) 28
(440 S (3) 140 (4) 198

17. Three brands of mobile phones are used, 17. U@ DfGFI # Ffpal, AR AR AR TTHG
o SIS & HEgd ga U S 2 70
URaR ®dd UF #is $I YANT # 47 IRAR

namely Nokia, Sony and Motorola in a colony.

70 families use only one brand, 47 families use
S a1 F1S B YART H 3R 8 uRaR Al Fie
exactly two brands and 8 use all the three

Bl YA H ofd €| T8 A AT & b gD

brands. It is assumed that each family uses at

IRAR FF § B g7 dIFl FiS § @ B9 | BH
least one of these three brands. How many TH T ¥ oar 2| o uRaR W ® o

families do not use all three brands? T H1 g8 YA H A8 o d 87
M)12s § ) 117 (1) 125 ) 117
38 @) 0 3) 8 @) 0

18. In a certain code language, if FRAME =43 and  18. If¢ f&=i1 & e w1 # afe FRAME = 43

HURDLE = 68, then FIGMENT = ? 3R HURDLE = 68 &I dI FIGMENT = ?
(1) 74 (2) 87 1) 74 (2) 87
(3) 89 - @9 (3) 89 4 91

[OB] XX Page 7 of 24
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19.

20.

21.

If (x+y) A (x-y) = Xy, then xAy = ?

1 1
1) 3 x+y) (2) 2 (y—x)

)

1 1
@ =lx=y) Z(x2~y2)

If the mean of n numbers of a series is X and the
sum of ﬁrst. (n-1) numbers is A, then the last
number of the series is-
(1) nX (2) nx-A

B3)nx+A (4) X +n\

The following pie-chart represents the total
number of valid votes obtained by four students
in a student election. The total number of valid
votes polled was 720. By how many votes did

the winner defeat the nearest contestant?

Student 3

Student 4

(1) 40 (2) 60

(3) 80 @) 120

19

20.

21.

GET IT ON
Google Play

e (x+y) A (x-y) =xy &, a1 xAy=2

1 1
(1) 7 x+y) (2) . (y—x)

i 1 1 ;
3) Z(x—y) (4) z(xz—y)
Af n AR BT ARY X ¥ 3R UUH (n-1)

ST BT AT A ®, A 9ol @ sifx e

%‘_
(1) nx (2)nx-A
B)nx+A (4) X +nA

=1 urg—=ré =R Bl g7 B gAe # urd
ae Hall 1 yefia wvar 2 | Ak sl T Fo
dg Hal @ F=1 720 off | iAW et T 3
e gl $1 foam #ai § =Er

(1) 40

(2) 60

(3) 80 4) 120
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22. For what value of a, the polynomials

23.

24,

25,

4x3 —ax? +2x—1 and 3x3 + 7x? - 8x +a,
leave the same remainder when divided by

(x-1)?

(D1 (2) 312
(3) 512 ) 712
If 2* = 3V = 127, then xy =?
(1) z(x + 2y) @) z(x+y)
(3) z(2x +y) @) z*

The sum of length, breadth and height of a

cuboid is X cm and length of its diagonal is y

cm, then its complete surface area will be-

(1) x2 — y? (2) x* +y?
3) 1 4) (x —y)?
2
The base of a cone, a hemisphere and a cylinder

are same and their volumes are in the ratio 3:2:1
then height of cone : radius of hemisphere :

height of cylinder is-

GET IT ON
Google Play

22. a9 fbw A9 & ford, 98U

23.

24.

25.

4x3 —ax? 4+ 2x—1 3R 3x3+7x2 —8x +a,
(x-1) ERT 91T {7 Sm 8, O 69 9l
&l B—

(11 (2) 372

(3) 5/2 4) 7/2

gfg 28 = 3 =122 31, ot xy =?

(1) z(x + 2y) 2) z(x+y)

(3) z(2x+y) 4) z2

TP O BT TN, drels AR Hag BT INT
X ¥A. & R 390 e o o= y 34
&, 1 S9&T [ YO &A% BR—

(1) x* —y? (2) x* +y?
2
(3 % ) 4 x—y)

TAM € 3R S AgaHl # U 3:21 B,
& vim A S o @ B ;e
@ IS TR o—

(1) 6:3:1 (2) 9:3:1 (1) 6:3:1 (2) 9:3:1
(3) 9:6:1 (4) 1:6:3 3) 9:6:1 4) 1:6:3
[OB] XX Page 9 of 24
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26. 37 @ 5w @y 4 |fy |dr 27
D)  fRe + "vsd = fRwvsd
2 v+ ww=1uds

Q) =+ fm = R

@ g + g1 = Rgeer
27. fa=faRead # & fog oeg § &R’ y9g 78 87
1 FReR
) HEBR
(3) TEIR
@) WBR
28. gpfa @1 fidm o= &
@ wgfa
@) Pl
@) gl
@ T
29. s F TR T IYE =7
1 wge
2 T
@) v
@4 e
30. 37 ¥ fe fawea # ‘Adjourn’ 1 TR ) e 27 _
1) g
(2) XcT g3l
@) | &
@)

[OB] ¢ : Page 10 of 24
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31. Choose the correct option :

........... time has been wasted.

(1) Few

(2)  Many
(3) Much
4) A few

32. Choose the correct tense :

Lo her making great efforts to complete the assigned task.
(1) saw

2) be seen

(3) been saw

4) seen

33. Choose the correct antonym of the given word ‘Rarely’-
(1)  Hardly '
2) Definitely
(3) Frequently
4) Periodically
34. Change the narration :
“Must you go so soon?”, I said.
(1) I asked him go soon.
(2)  1told him he should go soon.
(3) I told him he must not go soon.

4) I asked him if he had to go so soon.

35. Choose the correct option :

The tailor was ordered to ......... the shirt.
(1) Altar

(2) Alter

3) Amend

(4) Anew

[OB] ¢ Page 11 of 24
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36. As per the census 2011 what is the literacy rate

37.

of Rajasthan?

(1) 66.11% * (2) 70.50%

(3) 79.19% (4) 79.50%

The 11" World Hindi Conference was held

from 18™ August to 20" August, 2018. In which

~ country it was held?

38.

(1) India (2) Mauritius

(3) Nepal (4) Bangladesh

In Rajasthan which of the following are
included in the Chief Minister’s Seven Point

Programme for Women Empowerment?

(A) Reduction in mortality rate of infants
(B)  Stabilization in Population

(C)  Prevention of child marriage

(D)  Stay of girl students in school at

least upto class 10
(1) Only A and B (2) Only A and C

(3) Only C and D (4) A,B,Cand D

GET IT ON
Google Play

36. SIVFT 2011 & JATAR ISR B AR

37.

e T 87 '
(1) 66.11% (2) 70.50%
(3) 79.19% (4) 79.50%

11%%%@%13%@%%

2018 TF SN gIMI TE A W A

38.

JrfoT g3 AuT?
(1) 9 () #iRea
(3) Furet @) gAY

o H Aien wwfdaeer 8 gEAl @

o g eriwe H FeEfaRen § @ @

3fAer 87

(A)  RR-—TgR F T

(B) S RenieRor

(C) dret faare @l JApa™

(D) BRI &1 Tt H HH | DA BE 10

b SEXd

(1) T AR B  (2) dd9d A 3R C
@) @I C AR D (4 A B,C3IRD

[OB] XX
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39. Apurvi Chandela and one other Indian Shooter
have become the first set of Indian Shooters to
secure quota places for the 2020 Olympics by
finishing fourth and second respectively in the
women’s 10 meter rifle event of the ISSF
World championship on 3rd September 2018 at
Changwon South Korea. Who is the other
shooter?

(1) Anjum Moudgil  (2) Heena Sidhu

(3) Anisa Sayyed (4) Shreyasi Singh

40. The Prime Minister of India has recently
announced that India will send a manned
mission in space by 2022. What is the name of
this mission?
(1) Badi udaan (2) Gaganyaan

(3) Virat udaan (4) Antriksh vijay

41. In the year 2018, which month has been

declared as “Month of Nutﬁlion" in Rajasthan?
(1) September (2) October

(3) November (4) December

42. As per 2018, Cleanliness Survey for Indian

Railways, one of the railway stations of
Rajasthan has been declared as the cleanest
railway station in ‘A’ category. Which is this
railway station?
(1) Marwar (2) Phulera

(3) Bhilwara (4) Barmer

GETITON
Google Play

39. 3 fyawR 2018 @I FFTaM, <ROT SIRaT #
Ao g3 oS W TW U AMEERY H
Aigerar P 10 Hex Vgha ol § HH =l
IR R WM W BT R 3gd gl AR T
= wRAR Femee AR FAREeT @
ygell wE 9 & R 2020 s Wi A
BT I §IHT © | T8 3 Freiarst &I+
2?

(1) ¥ Acfia (2) B Rigy
(3) 3 IS (@) s Rig

40. YRGB YA 7 BT & H W B
TRA 2022 O IIRe A WHE g AEE
AT | ¥ JAFAITT BT I TH 87
(1) 981 S (2) A

(3) farre S (4) sraRer fasr

41. T% 2018 F ISR # fha AEM BT UMl BT
HET it fovar &7

(1) Rio=R (2) 3T

(3) AR @) fawr

42. v Y9 & 1Y 2018 WA G
SR RISRT & Yeid WA 4 | T 31 T
Sofy F Fad QI Yard wIE wifta fear
2| U8 39 RIF DA AT 87

(2) TR
(4) TR

(1) ARArs
(3) Hrerarst

[OB] ¥
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43. India’s first ever test flight powered by biojet

45.

fuel was successfully conducted by Spicejet on
27" August 2018 between which two places?

(1) Dehradun and (2) Dehradun and
Lucknow Delhi
(3) Shimla and Delhi (4) Chandigarh and

Delhi

Which author was awarded Vyas Samman for

2017 for her novel “Dukkham - Sukkham”.

(1) Mannu Bhandari  (2) Dr. Sunita Jain

(3) Mamta Kalia (4) Mridula Garg

World’s first thermal battery plant was
inaugurated in India on 6™ August 2018. Where
was it inaugurated?

(1) Amaravati, Andhra (2) Pune, Maharashtra

Pradesh

43.

44.

45.

GET IT ON
Google Play

27 TR 2018 I WISH Sic §RT WRA &l
Ha Ugell dRNie WE §RT arfod o
oM b7 a1 Il 3 "y W T8 o

(1) TBRIGA AT (2) S1GA T feeen

[SECE

(3) Rerm @ fecell  (4) Tveire oo feceh

fost <ifgeT &1 SHa U= “GRIT—gIEH”
@ fo1g 2017 &1 @ wwE e Ty or?
(1) 7L HerI (2) 1. AT S|
(3) 7T FIfeRm (4) Fgen T

fivd & Ugel onid STl wic &1 9Rd # 6
SFTRG 2018 I IgHTe fhar AT o7 | SHST

Seured dal fear Tar ar?

(1) SFRTE, MUY (2) YOI, AERTS

(3) X, FRES (4) P, s
(3) Ranchi, Jharkhand (4) Cuttack , Odisha
46. The number of moles in 52 g of He is - 46. 52 g He # Hiali @1 | 28—
@1 2 13 (1) 1 2 13
(3) 26 4) 52 (3) 26 4) 52
[OB] > S Page 14 of 24
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47. When a body of certain mass falls freely from a
height it’s-
(1) Potential energy  (2) Potential energy
decreases and increases and
Kinetic energy Kinetic energy

increases. decreases.
(3) Potential energy  (4) Potential energy
and Kinetic energy and Kinetic energy

both increase. both decrease.

48. Which of the following bodies has the largest
Kinetic Energy?
(1) Mass m and Speed v (2) Mass 3m and
. Speed 2v
(3) Mass 2m and (4) Mass m and Speed

Speed 3v 4v

49. The average value for the amount of organic
matter that is present at each step and reaches

the next level of consumers in a food chain is -
(1) 40% (2) 30%

3) 20% @) 10%

50. Number of chromosomes in human cell is-
(2) 36
4) 96

(1) 20
(3) 46
51. The Westminster Model adopted in the Indian
Constitution is related to -
(1) Presidential (2) Secular State
System
(3) Parliamentary (4) Republicanism

System

GET IT ON
Google Play

47. 519 ve fAf¥ed geHE @ five Ua S |
W= ®Y ¥ fixar 8, d-

(1) s Rerfest St (2) swa) Rerfret St
"edl 8 3R Mo gedl & 3R Tfos
Hotl Jget B | Heoll Tedl 2 |

(3) suat Refas St (4) sHa Refos ot
AR et Sl AR Tt St
M ged 1 aFT ged §1

48. a0 & T axqgel W 9 fhwar afow st
qaifre 87
(1) SIHT m T (2) S¥HE 3m =T

ECIRY Tl 2V

(3) <9F1F 2m dAT  (4) S<FHTT m qAT

Uled 3y el 4v

49. fB¥l AER FEA H TS TR W S
FEME gerlt @) i =/ 9 STrE
® Tl WR TP ggad! o—
(1) 40% (2) 30%
(3) 20% @) 10%

50. Ara PIRIET H YURGAT BT AT Bl o—
(1) 20 (2) 36
(3) 46 (4) 96

51, wrdr wdfdu 4 oftfiga axefiver dfed @1
e § —
(1) TETHS YOIl (2) THFRYE 159 A

K|

(3) TS goIell | (4) TUIGEae |

[OB] ¥
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GET IT ON
Google Play

52. 9 dF MR, f5 W FfAUE & IR 352
@ 3 MU SKENUT B O WHl g, H

52. The three grounds on which emergency can be
proclaimed under article 352 of the constitution

do not include -

e 78 & —
(1) Internal (2) War. (1) afdRa® srTify Q) Ig
Disturbance
(3) External (4) Armed Rebellion (3) dT&I 3THHT (4) W fagTe
Aggression |
53. Union Council of Ministers is collectively  53. Wg &I #RuRYg AFfed U ¥ SRS 2—
responsible to - (1) reufy & ufey (2) 99e & ufy
(1) President (2) Parliament (3) TP 3EEr D @) ST B ufy
(3) Speaker (4) Lok Sabha gfy
54. How many members are elected in Parliament ~ 54. ¥¥g H YoM ¥ fda 9w g od 82
from Rajasthan? (1) 25 (2) 29
(1) 25 (2) 29
3) 35 (4) 40
(3) 35 (4) 40

55. The collegium system in the appointment of

55. =rarfien @ Yk @ Blersizm gomedll &1

Judges has started in the-year - IRy fhg a9 9§ BaT?
(1) 1984 (2) 1993 (1) 1984 (2) 1993
(3) 1995 (4) 1999 (3) 1995 (4) 1999
56. Which of the following districts of Rajasthan  56. f=ifoiRad & & woem= & 5w Rl @
has shortest international boundary? R AT 99 BITT 27
(1) Jaisalmer (2) Bikaner (1) TFeTR (2) PR
(3) Barmer (4) Ganganagar (3) TSR (4) TR
57. As per the Koppen’s classification which of the ~ 57. @199 & @iax0r & JqAR =1 & | fbd

following districts is not having ‘Aw’ type of
climate?
(1) Banswara (2) Jhalawar

(3) Dungarpur (4) Bundi

el § ‘Aw’ UBR @ STefary w181 Uil Sl
g7
(1) grearst

(3) IRPE

(2) SATefrdrs

@) 4

[OB] &
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58. Which district in Rajasthan have population
density less than 100 persons per square

kilometer? (As per census 2011)

(1) Jaisalmer, Barmer (2) Jaisalmer, Barmer

and Jalore and Jodhpur

(3) Jaisalmer, Barmer (4) Jaisalmer, Barmer

and Pali and Bikaner

59. Which of the following crop of Rajasthan is not

benefitted from ‘Mawat’?

(1) Wheat (2) Gram

(3) Mustard (4) Cotton

60. Match the following and select the answer from
codes given below —
Tourist centre Place
(A) Soni ji ki Nasiya (i) Bharatpur
(B) Lohagarh fort (11) Bikaner
(C) Chandra-Mahal (i1i) Ajmer
(D) Junagarh fort (iv) Jaipur
Codes :

(1) (A)-(1), (B)-(ib),
(C)-(iv), (D)-(iii)

(2) (A)-(iv), (B)-(1),

| (O)-(iii), (D)-(ii)

(3) (A)-(ii1),(B)-(iv),
(O)-(1), (D)-(ii)

(4) (A)-(i11),(B)-(1),
(C)-(iv), (D)-(i1)

GET IT ON
Google Play

58. YoE § B9 9 el § S9EET 99 100
Ffad ufd of farier & &9 9 wer 87

(STITOTT 2011 & THR)
(1) STHERR, IR T (2) SRR, IR Ud

SR IR
(3) STHTR, IIERR UG (4) STk, SISk Ud
qrelt BTN

59. IoTRIE @ 9 4 ¥ 31 W B9 Hae’ 9
FmIfaT el BRil 87
1) T
(3) wwal

(2) =1
(4) ®UTH

60. =1 @1 gaford HIfT va Aie iy T ael |

¥ SR gy
e B I
(A) SIFT S @1 AR (1) WRAOgR
(B) @iIBTTS fder (ii) PR
(C) g — HEd (iii) 3TSTHR
(D) SATTE fobett (iv) SR
?Ig\_(.’ :

(1) (A)-(), (B)-(ib),
(C)-(iv), (D)-(iii)

(2) (A)-(iv), (B)-(i),
(C)~(iii), (D)-(ii)
3) (A)-(iii),(B)-(iv),

(©)-(i), (D)-(ii)

(4) (A)-(iii),(B)-(1),

(C)-(iv), (D)-(ii)

[0B] &
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61.

62.

63.

Which of the following set of principles is most
appropriate for school management?

(1) Cooperation, (2) Equality, over-

equality, flexibility structuring,
and sharing flexibility and
responsibility fixed responsibility

(3) Cooperation;, (4) Flexibility, over-

rigidity, equality structuring, sharing
and fixed responsibility and

responsibility equality

Which of the following function is related to
educational management?
(1) Organisation of  (2) Planning activities

school

(3) Controlling the (4) All options are

system correct

According to the aims of Sarva — Shiksha

Abhiyan (SSA), by which year elementary

61.

62.

© (1) fdETe™ ETeH

63.

GET IT ON
Google Play

frerrera vave & forg FreferRea & & Rigral
P DI AT AT (WE) FaH At Sugad 27

(1) &AW, FAA],  (2) EHIL,
ST 3R WAiEm -\,
ITRETIE REICIEEECIN

fraa sweRE

(3) &, e, (4) AT,

FHET SR f—<==T, aren
SRR IREII 3R

HHTCT
ffoRaa # 9 o9 a1 o Aee gdus |
et 87
(2) ity &

T

(3) voment (G=) s (4) o fAwey w8 &

w4 Rien A & dedl & STER 6 9 14
o o & T ARl B fory URfe R

education should have been made available for g 9§ T% SyTE & S A1fRT?

all children upto 6 to 14 age group?

(1) 2005 (2) 2010 (1) 2005 (2) 2010

(3) 2000 (4) 2020 (3) 2000 (4) 2020
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64. A most effective approach for long term  64. 9f8rs HwRll @ SHdIad MR ASHT &1
decision planning of an Educational Institution waifere gHrdr SurTH (@) eEfoiRga o)

should be based on the following— JETRT BFT TRy —
(i)  Anexplicit and shared vision ' () o= sl e gie
(i)  Emphasis on economic aspect i)  anfie veT TR g o

(i)  The use of appropriate process (iii) ST WA BT IHALT

(iv) - Stress on result (iv) 9RO W qd <

(v)  The use of mature team (v)  9Ruad S F1 S
(vi)  RomHl @ T e wfiEE
fedr i famedt # @ forwt e # w8 afd®
%4 87

(vi)  Clear commitment to the outcomes
_ Out of the following which option has correct

logical order?

1) (), (ii), (iii) and  (2) (i), (iii), (v) and
(1) (), (i), (i) 3R~ @) (i), (iii), (v) 3R

(iv) (vi)
i3 TaaRe sy s (iv) (vi)
(3) (ii), (iii), (iv) and  (4) (iii), (iv), (v) and
(vi) (vi) 3) (i), (i), (iv) 3R (@) (i), (iv), (v) 3R
(vi) (vi)
65. The correct cycle of Educational Management  65. a1fi{e ufsham & forg Mfére gaem omedl gaer
Information System (EMIS) for annual process & 9l I & —
is - ; 4953 CE I
(1) Sitbgi B (2) SifHel BT oA
(1) Data Collection — (2) Data Reporting — &irth)
THATBII — — JfHSl B
Data Analysis — Data Processing — sifee BT fageror S
Data Reporting — Data Collection — — el Bl T THADIT —>
Data Processing Data Analysis o — 3lHe Jfeel BT fageryor
@I Ufehar
(3) Data Processing — (4) Data Collection — ‘ :
. (3) 3ffwst @1 ufbar  (4) Aiwst BT
Data Analysis — Data Processing— — 3ffpet @ THHHIT —
: RreaT — oftogl ArmSt A uf
Data Reporting — Data Analysis — ' ‘
BT oTET — — DSt BT
Data Collection Data Reporting st B fRredor — aifwet
BT BT G
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66. Which of the following function is not included

in the techniques and procedures used for

School Mapping?

(1) To plan the

demand for

schools at the local

level.
(3) To analyse an
educational

system.

67. Which of the following is not included in the

programmers under CTE (College of Teacher

Education)?
(1) Pre — service
education

programme

(3) Action research

(2) To support
decision making

on the planning

policy formulation.

(4) To resource
allocation and
prioritization of
future school

development.

(2) In-service teacher

training

(4) Service conditions

for teacher

education

GET IT ON
Google Play

66. femera AEfEYT & forv SUIRT @ oiE drel

R ek wfRae ¥ Freffed § @ 9
a1 &R gftafera T8 2?2
(1) e o I (2) AifT FEr gomET

RO AN B W R R ok
IISTAT FT | B HERT 7 |
(3) P R gureht  (4) A FeiRor ok
&1 Rvew der| e fe #

qfqsy a1
IIAFHAT T
HET |

W A 3 (Gruue Renm HefErm) @

FHred # f=fafag § 9 o9 91 wftafem

& 87

(1) & = Sara Rrer (2) YaRd Feaus

PHIAHH yfSreror

(3) forarie AT (4) e R &

forg e wrc
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GET IT ON
Google Play

68. § — Ty e B forg GRS, W

68. E-Governance is the application of ICT for

delivering services in convenient, efficient and
transparent manner. Which of the following
target group is included in it?

(1) Government (2) Citizens

IR uRedl B ¥ AEMA (g @
RO TR BT ST | Pt o
¥ B 9 e (eriie) wg aftafera 87

(1) SRFR (2) “TR®
(3) Business / Interest (4) All of the above (3) SR /S (@) SR T
groups
e
69. ‘EduSAT’ was launched in which year and 69. ‘TETT WAYYH DI | A8 U4 a9 H eiftd
month very first? e
(1) August 2010 (2) July 2010 (1) 3T 2010 (2) @1—5‘ 2010
(3) August 2011 (4) July 2011 (3) TR 2011 @) W 2011
70. The Bharat Scouts and Guides’ National 70. ¥RT ¥HIScH Ud TMged @I IS TEATCid
Headquarters is situated at- Rerd & —
(1) Dehradun (2) Delhi (1) Texre ¥ ) el ¥ -
(3) Mumbai (4) Chennai 3) 5’:"—5( = @) a=1g A
71. Kasturba Gandhi Balika Vidyalaya (KGBV) 71 &wRar e aiferer fderery (KGBV) @1
was launched in - 3™ B3 —
(1) 2001 (2) 2002 (1) 2001 (2) 2002
(3) 2003 (4) 2004 (3) 2003 (4) 2004

[OB] XX
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73.

73.

e

According to The Right of Children to Free and

Compulsory Education Act - 2009, a child
admitted to elementary education shall be
entitled for free education till completion of

elementary education -

(1) Only upto fourteen (2) Upto fourteen

years in years in all types
government of schools
schools

(3) Upto fourteen (4) Even after fourteen

years in private years of age
schools

According to duties of appropriate Government

mentioned in The Right of Children to Free and

Compulsory Education Act - 2009, the Central -

Government shall -

(1) Provide training (2)' Ensure availability

facility for of a
teachers. neighbourhood
school.

(3) Develop and (4) Provide

enforce standards infrastructure.
for training of

teachers.

GET IT ON
Google Play

72. figed R Rl a@ Rem &1 afeR

AT — 2009 & STAR, URME Rem &
fere st it B aree uRfe R g

B TF FYed e BT ghaR BT —

3.

(1) &R f[derear 4 (2) 9 yeR &
DIl digg 99 9 fdererdl ¥ deE

ELAGED
(3) IR TWHrY (4) eE 9 B AR
el § deg @ geErq
ELRGED

Fged AR e s Rem &1 AfPeR
e s — 2000 # Ifd WG AR B
Hidl B FTAR DE THR FT I
2P —

(1) 3Dl B (2) MU (TSr) H
iR e feemerg @1
A | ST &l

gff¥Ea & |

(3) Rerd! & gl (4) smeryg @@
a‘s%qmq—cﬁra% TETH AT |
f@wfira iR @y
AT |
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74. Which of the following duties shall not be 74, Aiged iR A a1 Rem &1 IWHR
AT — 2009 & IFTEAR FAUDI R
| FrfaRad # @ B A1 SRS T g

performed by teachers according to The Right

of Children to Free and Compulsory Education

form S 27
Act —2009?
(1) Decide the (2) Hold regular (1) 3 fér detoes (2) AT faT Sﬁ_\’
: ‘ (TrmT) SIRRICE R
academic calendar. = meetings with
faffe & | frafia do@
parents and
G |
guardians.
@) e T & (4) YAd qd B
(3) Complete entire  (4) Assess the learning MR -‘:HUT AT (?ﬁ@:f) 2
curriculum within ability of each qradshd PRI &HT &1 3HTheld
the specified time.  child. Tt s

75. In which of the following state, Rasthriya 75. F=ifoRed # § @19 4 w58 § wsfig Mferd

Military School is not situated? e Rerd =81 87
(1) -Punjab (2) Himachal Pradesh (1) uaE 2 fRamd goy
(3) Rajasthan  (4) Kamnataka 3) o (d) TeE
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Space for Rough Work
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